Here, we will show the direction of positive current in each of these devices.
The first wire shows positive current moving left to right, so our arrow goes in the same direction.

The second wire shows right-to-left negative current.

This means that the positive current must be in the opposite direction.

The third wire has positive current flowing in the opposite direction of the labeled current.

The last wire has current flowing in the positive direction, so our arrow is in the same direction.

For the parallel devices, positive current flows counterclockwise.

For the labeled voltages, we will first circle the node at the highest potential.

The voltage is positive in the first example, so the positive terminal has the higest potential.

In the second example, the negative terminal is at the highest potential because the voltage is negative.

The third voltage is positive, so we circle the positive terminal.

The fourth voltage is negative, so we circle the negative terminal.

Our final voltage has the positive terminal at highest potential.

